[ Efficien

cy vs vertpos |

~ 0.5

20.45
4
2 04
(8]
$0.35
0.3
0.25
0.2
0.15

ettic

.................................................

ER—

||i '+'+.+4r R

................................................

10 0?
TP vertr (cr%)

—=— DQM_mkFit_TTbhase

Efficiend —— pQm_mkFit_TTtest125xNEW

N 1.2

5 =
> -
g Ir
> L
[8)
e r
g 08
£ [
] L
0.6

0.4

0.2

""" {
T ﬁﬁ# :&”ﬁﬂ """ -

o
1.5

Ratio
IIIIHIIII

o
o1
I

------ R T

|
QT
o

: N : iy :
-20 -10 0 10 20 30

~ 0.5

P
o
S
]

I

etficiency vs Sim.

Ratio

-5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


